XVEWO 45 VA
RS IEE B R4S HANSAVFLEX

|_§:3 af q:a;;_-.
%01 KRB e i
BEER 1 HOENANE SN Y
%02 KRG ERT I (CEs
BHER 2 20 MK - I N
EMED  SETATHEREE BECAEIYE
ERER  AE4S LS
KEBE  EER(TEHEBRSAVER)

[T TN msi"

2
BRZER. FA, ENAENATHTHERENHATESHERRERNERER,

iTHiEr
NBR #1451 H 0 4
FPM (SR RI% S ERBH

&

SZHRY ITHEEHIE Gd2

(mm)

XVEWO 45 NW 04 HLVA L PN 315 6 M12x1.5 26,0 9,0 16,0 14 14 40x1.5
XVEWO 45 NW 06 HLVA L PN 315 8 M14x15 27,5 12,0 27,5 14 17 6.0x1.5
XVEWO 45 NW 08 HLVA L PN 315 10 M16x1.5 29,0 12,0 19,0 19 19 7.5x15
XVEWO 45 NW10HLVA L PN 315 12 M18x 1.5 29,5 14,0 21,0 19 22 9.0x 1.5
XVEWO 45 NW13 HLVA L PN 315 15 M22x1.5 32,5 17,0 24,0 22 27 12.0x 2.0
XVEWO 45 NW 16 HLVA L PN 315 18 M26x1.5 35,5 16,5 24,0 27 32 15.0x 2.0
XVEWO 45 NW20 HLVA L PN 160 22 M30x2 38,5 18,5 26,0 30 36 20.0x2.0
XVEWO 45 NW 25 HLVA L PN 160 28 M 36 x 2 41,5 23,0 30,5 36 41 26.0x2.0
XVEWO 45 NW 32 HLVA L PN 160 35 M45x 2 51,0 26,5 37,0 50 50 32.0x2.5
XVEWO 45 NW40HLVA L PN 160 42 M52 x2 56,0 26,0 37,0 50 60 38.0x2.5
XVEWO 45NWO3HSVA S PN 630 6 M14x1.5 27,0 9,0 16,0 14 17 40x1.5
XVEWO 45NW04 HSVA S PN 630 8 M16x 1.5 27,5 12,0 19,0 19 19 6.0x 1.5
XVEWO 45NWO06 HSVA S PN 630 10 M18x 1.5 30,0 13,5 21,0 19 22 7.5x15
XVEWO 45NW 08 HSVA S PN 630 12 M20x1.5 31,0 16,5 24,0 19 24 9.0x1.5
XVEWO 45NW 13 HSVA S PN 400 16 M24x1.5 36,5 15,5 24,0 19 30 12.0x 2.0
XVEWO 45NW 16 HSVA S PN 400 20 M30x2 44,5 16,0 26,5 27 36 16.3x24
XVEWO 45NW20HSVA S PN 400 25 M 36 x 2 50,0 18,5 30,5 36 46 20.3x2.4
XVEWO 45NW 25 HSVA S PN 400 30 M42x2 55,0 23,5 37,0 50 50 2563x2.4
XVEWO 45NW32HSVA S PN 315 38 M52 x2 63,0 21,0 37,0 50 60 33.3x2.4
ZHMRILL=FER =B S=E - PN=FEEH PB=H/AIKEDN - 0d2=ENER

FmEH
XVEWO 45 iRiiEiE SRE45°,
VEWO 45 VA IRi¢E 52 AE45°, THE

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
07.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



